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.     Starter    .
Differentiate the following:

 1) 
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     Find f’(-1)
6) Find the gradient of the tangent to 
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 at x = -2
7) Find the equation of the tangent line to the curve at x=1

Given 
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Solve 
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.     Starter    .
[image: image53.wmf](

)

c

n

Ax

dx

Ax

n

n

+

+

=

+

ò

1

1

[image: image54.wmf](

)

c

n

x

dx

x

n

n

+

+

=

+

ò

1

1


The area of a triangle, where the b = the base and h = the height
Given a triangle with it’s ‘base’ and ‘height’ add up to 4 metres
1)  Write a formula for the Area of the triangle given b + h = 4
2)  Use calculus to find the height which would give the maximum area
3)  Calculate the maximum area
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The volume of a cylinder is 
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 Where the r = the radius and L = the length

Given a cylinder with it’s length and radius add up to 12cm
1)  Write a formula for the Volume of the cylinder given L + r = 12
2)  Use calculus to find the radius which would give the maximum volume

3)  Calculate the maximum volume
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.     Sketch the Original Function    .
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Given a gradient function can we sketch the original function?
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.     Finding the original Function    .
If we know the gradient function f’(x) 

how can we find the original function f(x)?
Gradient function   f’(x)


Original Function   f(x)
1) 
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How do we do this?   What is the C for?
.     Anti-differentiation    .
[image: image64.emf]1


 


2


 


3


 


–


1


 


–


2


 


–


3


 


gradient


x


1


 


1


 


2


 


2


 


3


 


3


 


4


 


4


 


5


 


5


 


6


 


6


 


7


 


7


 


1


 


1


 


2


 


2


 


3


 


3


 


–


1


 


–


1


 


–


2


 


–


2


 


–


3


 


–


3


 




1 2 3 –1 –2 –3 gradient

x

1 1 

2 2 

3 3 

4 4 

5 5 

6 6 

7 7 

1 1 

2 2 

3 3 

–1 –1 

–2 –2 

–3 –3 

The opposite of differentiation is Anti-differentiation


To anti-differentiate we...

New Notation:


The anti-derivative is                     

Anti-differentiation finds the original function when given a derivative

The anti-derivative is also a rule which tells us the area under a curve to the x axis (and y axis) (INTEGRATION)
NOTATION “Integrate the function f(x) with respect to x”

Function



Anti-derivative



General Rule
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.     Practice    .
Anti-differentiate the following: (work together)

1)  
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             ‘C’ = Integrating constant
Check your answers in pairs, now try these yourself
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.     Overview    .
1)  
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‘k’ is a number
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‘b’ is a number
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‘a,b,k’ are numbers
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‘m’ is a number
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‘b & m’ are numbers
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